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. Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages. .
Ho : 2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

50, will be treated as malpractice. '

- Time: 3 hrs.
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(i) Retrieve t
(iii) Find ;ghe gumber of employee and average salary of each company. - (06 Marks)

Fifth Semester B.E. Degree Exammaﬁﬁtn, Aug./Sept.2020
Database Manage:ﬁ&nt System

ax. Marks: 80

ule—l

. ' Discuss the advantages of usmg%l\%BMS approach. (06 Marks)
" Explain three-schema archlt ith a neat dlagram Why -do we need mapping between
schema levels? @%é (06 Marks)

.. What is Data Independent? Explain different types &f Da’ta Independence (04 Marks)

OR 4

,  Explain the compog»eﬁt modules of DBMS and thg ir interaction with a neat diagram.

(06 Marks)

Explain dlﬁe@%%es of attributes that o%u % ER model with an example. (06 Marks)
Design a E gram for keeplng track of formation about Bank database taking into an
t (04 Marks)

Discuss the characteristics of relahons that make thém.different from 6rdinary tables and

files. N A7 (08 Marks)
Explain the steps to con he basic ER model i lational databasc*SChema. (08 Marks)

_ ain with example.
S (06 Marks)
Define foreigr%@f'%% key. Explain all pog%;%ble optlons thatcambe specified when a referential

mtegnty constraint is violated. _ (04 Marks)
QL syntax with ex, mgfé for the followis
) (06 Marks)
m@i@plam the followmgﬁgrth an example.
(o 1) Correlated ne
+(ii) Assertions. (06 Marks)
Explain aggregate functions in SQI%W??\;h example. (04 Marks)

Consider the following tables:
WORKS(Pnatrie, Cname, Sal
LIVES(Pname, Street, City)}.
LOCATED _IN(Cname, City)
MANAGER (Pname, Mgi‘name)
Write the SQL Query for the following :
(i) Retrieve the nar&ﬁes of the people who work for Wipro along with the address they
live in.

me of the person who gets second highest salary.
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OR
Explain the following with an example:
(i) Cursor
(ii) Database Stored Procedure. ,
Explain the Standard Three-Tier Archite% and list the advantage

, ;

(08 Marks)
(08 Marks)

ule-4
ain the inference rules- ctional dependency with
‘ (08 Marks)

ng an example. R 4 (08 Marks)

What is Functional Dependency;
proof.
Define 1NF, 2NF and 3NF b

OR

minimal cover for a set of
&

m@ Dnumber — {Dname, Dmgr_ssn}}
(04 Marks)

Write an algorithm to functional dependencies. - (04 Marks)

(08 Marks)

(06 Marks)
(06 Marks)
(04 Marks)

(08 Marks)

c%of multivalue functional dependency? Explain
- v

(08 Marks) -
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